BH6ERE

BAWNG ) —vty sy — (GAERDOHFEEDINRICET S ER)

1 DU MREENOE/ I ENERRUEKE

[EEE] 15H 48 58 68 88 98 108 18 128 18 28 38 &5t (1)
. 1S1FEEIE (t) | 550.16 | 4,537.58 | 4,189.68 3,321.21 [ 4,213.11 [ 4,322.42 | 126.38 |- 21,843.93
- |2SIPBEEIE (1) [4,369.17 | 1,589.45 | 2,544.16 [ 4,571.35 [ 4,586.34 [2,491.09 | 1,536.90 [2,390.11 [4,573.19 [3,543.02 32,194.78
&it (1) 4,919.33 | 6,127.03 | 6,733.84 | 5,154.74 | 4,586.34 | 5,812.30 | 5,750.01 | 6,712.53 | 4,699.57 | 3,543.02 54,038.71
2 MEEdhORESGEE. EUCARICRATDIREN EE. EAXHO—EB{bRFEE (EfAIEO B FHEE)
15H 48 58 68 88 98 108 1A 128 18 28 38 [wmEmmE] AEME
RN 2 | 1510 94 948 919 - 936 929 932 856 - EFC800°C O
BE (°C) 28R 954 956 923 918 913 920 922 939 939 ME RS
ELARCRATS | 158 170 170 170 - 170 170 170 170 - BF200°C /5L
A ZRE (C) 284 170 170 170 170 170 170 170 170 170 AT
A 2 —B L | 150F 8.0 8.0 9.0 - 9.0 8.0 8.0 12.0 - \ o
#i=E (ppm) 28R 9.0 9.0 14.0 10.0 9.0 9.0 9.0 12.0 8.0 1004°F E=
3 AHIRBRUHEA A NIBERECEWVELERFEVWCADREEZT>H
B BEH EES E¥=
124 AR R RN SM6FIF/TH 224m N fE RS SM6EFE11H1TH
= D ANERT® (N7« L5| SH6EIRH = A RANERR |\ b5| SH6ENBITH
4 [FOVEEBXEENERERERR
HEA R =AU T2 E A H| »ineR98 | sfews8148 | 9706568138 | 270657858 | Hi0658828 | $i0659898 | #ie5108238 | ines11 5208 | #70651284B | $M751 588 SEARSIE |8 2R
BIEZREDOEBONERB | ofeEs8308 | £f6E58318 | 4706568288 | $706578318 | $706E85308 | £706E95308 | 7165108318 | 7165115298 | Sine128278 | SfrE18318 . - AR
FULCAEE [12%F -[0.00012K5%0. 000157 - -] 0.0001 10.000155&[0.000155E - - 0.08L1F Jme
(g/mN) 2=4A0.0001K3%(0.000155%| 0.0001 0.000153&| 0.0001 0.0001 [0.00015&}% [0.00015&5%(0.00015R5%(0. 000175 ' -~
wmERmEE |[1SF - 0.26 0.20 - - 0.18 0.17 0.14 - - . e
(K &) 2547 0.23 0.22 0.18 0.21 0.22 0.19 0.18 0.22 0.13 1.5BF Ex
z=xmEE |1SF - 110.0 94.0 - 81.0 67.0 63.0 - - . oo
(ppm) 28R 91.0 98.0 88.0 84.0 82.0 78.0 79.0 110.0 110.0 2504F E=
Bk=EE [18F - 120.0 130.0 - 93.0 180.0 120.0 - -
_ 13 JEZE
(mg/m’N) 2=0F 140.0 130.0 110.0 130.0 150.0 160.0 140.0 97.0 200.0 T00RLF Ex
5 HARFDYA A+ VEEBREAERR
BAZAE=HRU=ERH oy HARE=HRUEERH . S v
= 7= SRR REULE = s R FENE
AERRNESNERH wvEERE PR REIE AlERROBONTERH wisEmee|  HEA REIE
SAAFIVERE |, o \ FAAFIVITRE . . e
(ng=TEQ/N) 1547 1T (ng-TEQ/N) 25 IF AT LS




